Q-1) Convert 7850 paise to rupees.

Q-2) Ravi bought 8 notebooks, each costing ¥15.75. What was the total
cost?

Q-3) %90.60 is equal to:
a. 9060 paise b. 900.6 paise c. 960 paise d. 906 paise

Q-4) How many 25 paise coins will make ¥107?
a. 40 b. 20 c. 50 d. 10

Q-5) Rina has ¥50. She bought a pen for ¥23.75. How much money does
she have left?

Q-6) Convert ¥120.45 to paise.
Q-7) ¥63.25 is equal to how many paise?
Q-8) If the cost of a shirt is ¥157.75, what is the cost of 4 shirts?

Q-9) An item costs Z20. If Rahul gives the shopkeeper 3 ¥5 notes, how
much more money does he need?

Q-10) 3625 paise is equal to:
a. ¥36.25 b. ¥32.65 c. ¥30.25 d. ¥37.25

Q-11) ¥85 is equal to how many 25 paise coins?
a. 340 b. 320 c. 300 d. 250

Q-12) If a toy car costs ¥72.50, what is the cost of 10 toy cars?

Q-13) Sita has ¥89.20 and spends ¥24.45. How much money does she
have left?

Q-14) Convert ¥43.85 into paise.

Q-15) If 1 kg of apples costs Z85, what is the cost of 7 kg of apples?
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Answers

Ans-1) 7850 paise = ¥78.50

Ans-2) Total cost = ¥15.75 x 8 = ¥126.00
Ans-3) ¥90.60 is equal to: (a) 9060 paise
Ans-4) 25 paise coins make ¥10 (c) 50
Ans-5) T50 - T23.75 = ¥26.25

Ans-6) ¥120.45 = 12045 paise

Ans-7) ¥63.25 = 6325 paise

Ans-8) ¥157.75 x 4 = ¥631.00

Ans-9) Total needed = ¥20; Paid = 3 x ¥5 = ¥15
More needed = %20 -¥15=%5

Ans-10) 3625 paise is equal to: (a) ¥36.25
Ans-11) 85 = 340 25 paise coins

Ans-12) Cost of 10 toy cars = ¥72.50 x 10 = ¥725.00
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Ans-13) 89.20 - ¥24.45 = ¥64.75
Ans-14) ¥43.85 = 4385 paise

Ans-15) Cost of 7 kg of apples = ¥85 x 7 = ¥595
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